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SARDAR PATEL UNIVERSITY
B.Com. (II - Semester) (2010 Batch) Examination
Thursday, 12" April, 2018
10.00 am - 12.00 pm
UB02CCOM34/12 - Fundamentals of Cost Accounting

Total Marks : 60
Note: Figures to the right indicate marks.

Q.1 What is Cost Accounting 7 Explain the Advantages and Limitations | (15}
of Cost Accounting.

OR
Q.1 During the year 2016, AK Co. Ltd, has produced and sells 40000 Units, (15)
for which following informations are available to you regarding per

unit cost.

Particulars Amt (Rs.) Amt(Rs.)

Prime Cost:

Direct Material 120 _

Direct Labour 80 200

Factory Overheads:

Fixed 20

Variable 30 50

Administrative Overheads:

Fixed 30

Variable 20 50

Selling Overheads:

Fixed 20 :

Variable 40 60

Total Cost 360

Add: Profit 40

= Sales 400

During the year 2017, it is estimated 50000 units were produces
and sold, and company wants to maintain same percentage of profit
on sales. You are required to find out per unit selling price after
considering following changes.

(1)  All fixed cost will increase by 20%.
(2) Direct Material cost will increase by 10%, while Direct Labour cost.
will increase by 20%.
(3) Variable selling overheads will increase by 10%, while other variable
- overheads will decrease by 10%.

Q.2

(A) From the following information calculate : (10)
(1) Re-order Stock Level

(2)  Minimum Stock Level

(3) Average Stock Level
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(4) Maximum Stock Level
(5) Danger Stock Level
Informations:
(1) Maximum delivery period - 90 days.
(2) Average delivery period - 70 days.
(3} Maximum delivery period for emergency purchase - 10 days.
(4) Maximum rate of consumption per day - 60 Units.
(5) Minimum rate of consumption per day - 40 Units.
(6) Ordering Quantity - 1200 Units. '

(B) Write short note on Types of Materials. ' - (05)
OR

Q.2 :

(A) A Worker has been allowed to compiete a work in 12 hours, but he {10)

completes the work in 9 hours. Labour rate per hour ir 30. Find out
wages as per; (1) Time Wage System (2) Piece Wage System (3)
Halsey Plan (4) Rowan Plan

(B) Explain: Features of Good Wage System. _ (05)

Q.3 Samir Engineering Ltd. has three production departments A, B and C (15)
and two service departments X and Y. The following figures are
extracted from the records of the company.

Rent and Rates 20000 Rs.
General Lighting 2400 Rs.
Indirect wages 6000 Rs.
Power 6000 Rs.
Depreciation of Machinery 40000 Rs.
Sundries : 40000 Rs.
The following further detalls are availabie.
Particulars Dept. | Dept. Dept. Dept. | Dept.
A B C X Y
Floor Space (Sq. Ft.) 2000 | 2500 3000 | 2000 500
Light Points 10 15 20 10 5
Direct Wages (Rs.) 12000 ;1 8000 12000 ; 6000 ! 20060
H.P. Machines 60 30 50 10 -
Value of Machines (Rs.) | 60000 | 80000 | 100000 | 5000 | 3000
Working Hours 6000 | 4000 2000 - -
The expenses of X and Y departments are allocated as follows :
A B C X Y
Department X : 20% 30% 40% - 10%
Department Y 40% 20% 30% 10% -

Prepare : (1) Statement showing aliocation of overheads expenses,
(2) Statement showing allocation of overheads expenses
of service departments into production departments.

OR
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Q.3 Following are the particulars of one Machine for the month of March
2016. From that, calculate Machine Hour Rate.
Cost of Machine Rs. 360000.
- Scrap value after its estimate life Rs. 70000.
Estimated annual repairs and maintenance Rs. 12540.
Monthly rent of factory Rs.7250.
Monthly salary of a worker Rs. 1050.
Monthly expenses of the chemical used to run this machine Rs.
1900.
(7} Monthly indirect expenses Rs. 3500.
(8) Annual insurance premium at the rate of 1%.
(9) Estimated Life of machine 200000 Hours.
(10) Monthly working hours 2000,
(11) Setting up time of this machine 100 hours.
(12)
(13)
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Power consumption is 5 units per hour and rate per unit is Rs. 1.50.
Four workers who are working on this machine also take care of two
other machine. '

(14) Machine occupies 1/5 space of the factory.

1"
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Q.4 The following informations are available from financial accounts of
DK Co. Ltd. for the year ended 31st March 2016.

Rs.
Material consumed 450000
Direct wages 270000
Factory expenses 180000
Office expenses 225000
Selling expenses 45000
Preliminary expenses written off 10000
L.egal charges 5000
Dividend received 10000
Interest received on deposit - 5000

In cost accounts Materials and direct wages are recorded at
actual cost. But factory overheads recorded at 70% of Direct Wages
and office overheads recovered at 30% of Factory Cost. Selling and
distribution overheads are recorded at Rs. 12 per unit sold.

There was no stock of finished goods in the beginning of the
year. During the year 1800 units were produced from which 1500
units were sold by Rs. 1500000.

Prepare.
(1) Profit & Loss Account

(2) Cost Sheet
(3) Reconciliation statement of Cost and Financial Accounts.

- OR
Q.4

(A) What are the causes of disagreement of Profit of Cost and Fi.nancial
Accounts 7 Discuss ?

(15)

(15)
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(B) The profit as per cost accounts is Rs. 165300. The following deails (08)
are ascertained on comparison of the cost and financial accounts.

Cost Financial
Accounts | Accounts

(1) Opening Stock

Materials 32600 33000
(2) Closing Stock
Materials 36000 34400

(3) Directors fees paid Rs. 800, interest paid Rs. 1000. Reserve for
bad debts Rs. 500, Share transfer fees received Rs. 200 and
dividend received Rs. 300 are taken in financial accounts but
ignored in Cost accounts.

(4} Rent charges in costing but not in financial accounts Rs. 5000,

(5) Preliminary expenses written off Rs. 12000.

(6) Overheads charged in financial accounts Rs. 121200 but
recovered in costing Rs. 126200,

Prepare Reconciliation Statement and Find out Profit as per
Financial accounts.
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